
     AVANT 200-sarja
         Varaosaluettelo

ALKAEN VIIKKO 37/2010 -

AVANT 218 A21338
AVANT 220 A21140

Valmistaja:

AVANT TECNO OY
YLÖTIE 1
33470 YLÖJÄRVI
Puh. 03-347 8800
Fax 03-348 5511
www.avanttecno.com



             AVANT 200-SARJA VARAOSALUETTELO 15.09.20102

Sisällysluettelo
SUOJAKAARI A33157 3
AVANT 218 A21338 4,5
AVANT 220 A21140 6,7
AVANT 220 KOKOONPANO A1356 8,9
AVANT 218 KOKOONPANO 10,11
MOOTTORIKOKOONPANO 220 A21139 12,13
MOOTTORIKOKOONPANO 218 14,15
PUOMI KP A21133 16,17
KÄSIJARRU KP A33076 18
SÄHKÖKOKOONPANO A46659 19
ETU-NAPAMOOTTORI KP A46243 20
TAKA-NAPAMOOTTORI KP A46244 20
POLTTOAINETANKKI KP A46411 21
ISTUIN KP 22
AJOPOLJIN KP A33078 23
LETKUTUS avoin piiri/kenno A21132 24,25
AJON LETKUTUS A33077 26



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 3

SUOJAKAARI A33157

1 A33155 1 SUOJAKAARI,VASEN
2 A33156 1 SUOJAKAARI,OIKEA
3 A45952 1 SELKÄNOJA
4 A46300 1 KATTOKAARI
5 A45797 1 POIKITTAISPALKKI , TAKA
6 A46297 1 KATTOLEVY
7 72151 8 KUUSIORUUVI ZN M10* 30 DIN 933
8 72130 12 KUUSIORUUVI ZN M 8* 20 DIN 933
9 72118 8 KUUSIORUUVI ZN M 6* 20 DIN 933
10 72322 4 KUUSIOMUTTERI M10 DIN 985 ZN
11 72320 12 KUUSIOMUTTERI ZN M8 DIN 985 NYLOC
12 72318 8 KUUSIOMUTTERI M6 DIN 985 ZNNYLOC
13 74423 8 ALUSLEVY M10 11 DIN 126
14 74525 12 ALUSLEVY M 8 8,4*20*1,25 ZN
15 74523 8 ALUSLEVY M 6 6,5*20*1,25 ZN



             AVANT 200-SARJA VARAOSALUETTELO 15.09.20104

AVANT 218 A21338



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 5

AVANT 218 A21338

1 1 AVANT 218 KOKOONPANO
2 A33157 1 SUOJAKAARI
3 A47132 1 SIVUSUOJA,VASEN
4 A47134 1 SPOILERI
5 A47133 1 SIVUSUOJA,OIKEA
6 A47136 1 ETUSUOJA,OIKEA
7 A47135 1 ETUSUOJA,VASEN
8 A47137 1 ETULOKASUOJA

A47141 2 TAKALOKASUOJA
9 A47138 1 HYDR.TANKINKANSI
10 A47139 1 KOJETAULU
11 A47140 1 LETKUSUOJA
12 64164 4 RENGAS+VANNE NURMIK 20*8.00-10/4PR

64794 4 RENGAS+VANNE TRAKT 21*8.00-10/4PR
13 1 ISTUIN KP
14 A46445 2 KULMAKIINNIKE , JYRKKÄ
15 A46446 2 KULMAKIINNIKE , LOIVA
16 A46452 1 SUOJANKIIINIKE , LYHYT
17 A46453 1 SUOJANKIIINIKE , PITKÄ
18 A46460 1 TARRA, VIRTALUKKO
19 A46457 1 TARRA, KUORMAIMENKÄYTTÖVIPU
20 A46458 1 TARRA, AJONVAPAUTUS
21 A46459 1 TARRA, KAASU/RYYPPY
22 A49166 1 TARRA, OIKEASIVU 331*586
23 A410453 2 TARRA, AVANT 218 126*345
24 A46456 3 KULMAKIINNIKE/KOJELAUTA
25 A44007 1 TARRA AVANT 60*225
26 A46465 1 TARRA, KOJELAUTA, OIKEA
27 A46466 1 TARRA, VAROITUKSE, KOJELAUTA/SUOMI
28 A46464 1 TARRA, KOJELAUTA, VASEN



             AVANT 200-SARJA VARAOSALUETTELO 15.09.20106

AVANT 220 A21140



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 7

AVANT 220 A21140

1 A1356 1 AVANT 220 KOKOONPANO
2 A33157 1 SUOJAKAARI
3 A47132 1 SIVUSUOJA,VASEN
4 A47134 1 SPOILERI
5 A47133 1 SIVUSUOJA,OIKEA
6 A47136 1 ETUSUOJA,OIKEA
7 A47135 1 ETUSUOJA,VASEN
8 A47137 1 ETULOKASUOJA
9 A47138 1 HYDR.TANKINKANSI
10 A47139 1 KOJETAULU
11 A47140 1 LETKUSUOJA
12 64164 4 RENGAS+VANNE NURMIK 20*8.00-10/4PR

64794 4 RENGAS+VANNE TRAKT 21*8.00-10/4PR
13 A46502 1 ISTUIN KP
14 A46445 2 KULMAKIINNIKE , JYRKKÄ
15 A46446 2 KULMAKIINNIKE , LOIVA
16 A46452 1 SUOJANKIINIKE , LYHYT
17 A46453 1 SUOJANKIINIKE , PITKÄ
18 A46664 1 TARRA, VIRTALUKKO /KOHLER
19 A46457 1 TARRA, KUORMAIMENKÄYTTÖVIPU
20 A46458 1 TARRA, AJONVAPAUTUS
21 A46459 1 TARRA, KAASU/RYYPPY
22 A49166 1 TARRA, OIKEASIVU 331*586
23 A49165 2 TARRA, AVANT 220 126*345
24 A46456 3 KULMAKIINNIKE/KOJELAUTA
25 A44007 1 TARRA AVANT 60*225
26 A46465 1 TARRA, KOJELAUTA, OIKEA
27 A46466 1 TARRA, VAROITUKSE, KOJELAUTA/SUOM
28 A46464 1 TARRA, KOJELAUTA, VASEN



             AVANT 200-SARJA VARAOSALUETTELO 15.09.20108

AVANT 220 KOKOONPANO A1356

1 A21058 1 RUNKO KP
2 A32886 1 TAKARUNKO HITS.KP
3 A21139 1 MOOTTORIKOKOONPANO KOHLER
4 A21133 1 PUOMI KP
5 A21132 1 LETKUTUS (AVOINPIIRI)/KENNO
6 A33077 1 AJONLETKUTUS
7 A46659 1 SÄHKÖTARV.KOK.PANO / KOHLER
8 A46411 1 POLTTOAINETANKKI KP 9L
9 A33078 1 AJOPOLJIN KP
10 A45663 1 KANNATIN ,VASEN KP
11 A45115 1 SIVULEVY HITS. KP



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 9

12 A46550 1 ISTUIMENALUSTA KOHLER
13 A33076 1 KÄSIJARRU KP
14 A46422 1 SIVUSEINÄ,VASEN KP
15 A46423 1 SIVUSEINÄ,OIKEA KP
16 A45107 1 HYDR.TANKIN HITS. KP
17 A45772 1 JÄÄHD.KENNON KOTELO
18 A46425 1 YLÄLEVY KP
19 A46420 1 TAKAPALKKI KP
20 A46118 1 REUNAKANNAKE
21 A46243 2 ETUNAPAMOOTTORI KP
22 A46244 2 TAKANAPAMOOTTORI KP
23 A45807 1 TAKAPAINOPIDIKE
24 A45804 6 TAKAPAINO 9.7KG
25 A45824 1 SUOJA
26 A45823 1 LISÄHYDR.VENTTIILIN RIPUSTIN
27 A46401 1 HUOLTOTUKI
28 A46418 1 AKUNPIDIKE KP
29 A46130 2 SARANA
30 A412495 1 PAKOPUTKI
31 A46665 1 VUOTOLETKUSARJA , ETU , VASEN
32 A46495 1 VUOTOLETKUSARJA , TAKA , OIKEA
33 A46496 1 VUOTOLETKU
34 71727 1 RENGASSOKKA 9,5 MM ZN
35 A45858 1 LETKUKANNAKE , ALA
36 A45857 1 LETKUPIDIKE
37 A45787 1 NIVELTAPPI
38 A46301 1 KULJETUSTUKI
39 A46454 1 VÄLISUOJA
40 64775 1 AKKU YUASA YB16L-B 12V19AH
41 64778 1 PUHALLIN SPAL VA14-AP11/C-34A
42 A3958 1 MITTATIKKU-HUOHOTIN R 1 1/4"
43 64273 2 NIVELLAAKERI GE30ES F47/30-22(18)
44 64777 2 LÄPIVIENTIKUMI F68/60/50
45 64776 3 LÄPIVIENTIKUMI F32/28/24
46 64174 1 KUUSIOKOLOTULPPA R 1/2"
47 72130 22 KUUSIORUUVI ZN M 8* 20 DIN 933
48 73040 1 KUUSIORUUVI ZN M10* 20 DIN 933
49 72151 4 KUUSIORUUVI ZN M10* 30 DIN 933
50 72117 21 KUUSIORUUVI ZN M 6* 16 DIN 933
51 72330 2 KUUSIOMUTTERI M16 DIN 985 ZNNYLOC
52 72322 4 KUUSIOMUTTERI M10 DIN 985 ZN
53 72320 20 KUUSIOMUTTERI ZN M8 DIN 985 NYLOC
54 72318 16 KUUSIOMUTTERI M6 DIN 985 ZNNYLOC
55 73018 1 ALUSLEVY M10 R11 DIN 440 ZN KORI
56 73612 4 ALUSLEVY M10 A10 DIN 127 ZN JOUSI
57 73461 2 ALUSLEVY M16 18 DIN 126 ZN
58 73122 ALUSLEVY M 8 A8,4 DIN 125 ZN
59 71682 2 ALUSLEVY M 6 A6,4 DIN 6798 ZN *
60 71776 1 JOUSISOKKA 8* 50 DIN 1481
61 72798 1 RASVANIPPA DIN 71412 R1/8" SUORA
62 A44998 1 KÄÄNTÖSYLINTERI F40/F20*150
63 A46551 1 LÄMPÖKILPI



             AVANT 200-SARJA VARAOSALUETTELO 15.09.201010

AVANT 218 KOKOONPANO

1 A21058 1 RUNKO KP
2 A32886 1 TAKARUNKO HITS.KP
3 1 MOOTTORIKOKOONPANO CV18S
4 A21133 1 PUOMI KP
5 A21132 1 LETKUTUS (AVOINPIIRI)/KENNO
6 A33077 1 AJONLETKUTUS
7 A46659 1 SÄHKÖTARV.KOK.PANO / KOHLER
8 A46411 1 POLTTOAINETANKKI KP 9L
9 A33078 1 AJOPOLJIN KP
10 A45663 1 KANNATIN ,VASEN KP
11 A45115 1 SIVULEVY HITS. KP



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 11

12 A46550 1 ISTUIMENALUSTA KOHLER
13 A33076 1 KÄSIJARRU KP
14 A46422 1 SIVUSEINÄ,VASEN KP
15 A46423 1 SIVUSEINÄ,OIKEA KP
16 A45107 1 HYDR.TANKIN HITS. KP
17 A45772 1 JÄÄHD.KENNON KOTELO
18 A46425 1 YLÄLEVY KP
19 A46420 1 TAKAPALKKI KP
20 A46118 1 REUNAKANNAKE
21 A46243 2 ETUNAPAMOOTTORI KP
22 A46244 2 TAKANAPAMOOTTORI KP
23 A45807 1 TAKAPAINOPIDIKE
24 A45804 6 TAKAPAINO 9.7KG
25 A45824 1 SUOJA
26 A45823 1 LISÄHYDR.VENTTIILIN RIPUSTIN
27 A46401 1 HUOLTOTUKI
28 A46418 1 AKUNPIDIKE KP
29 A46130 2 SARANA
30 A412495 1 PAKOPUTKI
31 A46665 1 VUOTOLETKUSARJA , ETU , VASEN
32 A46495 1 VUOTOLETKUSARJA , TAKA , OIKEA
33 A46496 1 VUOTOLETKU
34 71727 1 RENGASSOKKA 9,5 MM ZN
35 A45858 1 LETKUKANNAKE , ALA
36 A45857 1 LETKUPIDIKE
37 A45787 1 NIVELTAPPI
38 A46301 1 KULJETUSTUKI
39 A46454 1 VÄLISUOJA
40 64775 1 AKKU YUASA YB16L-B 12V19AH
41 64778 1 PUHALLIN SPAL VA14-AP11/C-34A
42 A3958 1 MITTATIKKU-HUOHOTIN R 1 1/4"
43 64273 2 NIVELLAAKERI GE30ES F47/30-22(18)
44 64777 2 LÄPIVIENTIKUMI F68/60/50
45 64776 3 LÄPIVIENTIKUMI F32/28/24
46 64174 1 KUUSIOKOLOTULPPA R 1/2"
47 72130 22 KUUSIORUUVI ZN M 8* 20 DIN 933
48 73040 1 KUUSIORUUVI ZN M10* 20 DIN 933
49 72151 4 KUUSIORUUVI ZN M10* 30 DIN 933
50 72117 21 KUUSIORUUVI ZN M 6* 16 DIN 933
51 72330 2 KUUSIOMUTTERI M16 DIN 985 ZNNYLOC
52 72322 4 KUUSIOMUTTERI M10 DIN 985 ZN
53 72320 20 KUUSIOMUTTERI ZN M8 DIN 985 NYLOC
54 72318 16 KUUSIOMUTTERI M6 DIN 985 ZNNYLOC
55 73018 1 ALUSLEVY M10 R11 DIN 440 ZN KORI
56 73612 4 ALUSLEVY M10 A10 DIN 127 ZN JOUSI
57 73461 2 ALUSLEVY M16 18 DIN 126 ZN
58 73122 ALUSLEVY M 8 A8,4 DIN 125 ZN
59 71682 2 ALUSLEVY M 6 A6,4 DIN 6798 ZN *
60 71776 1 JOUSISOKKA 8* 50 DIN 1481
61 72798 1 RASVANIPPA DIN 71412 R1/8" SUORA
62 A44998 1 KÄÄNTÖSYLINTERI F40/F20*150
63 A46551 1 LÄMPÖKILPI



             AVANT 200-SARJA VARAOSALUETTELO 15.09.201012

MOOTTORIKOKOONPANO AVANT 220 A21139

1 64836 1 POLTTOMOOTTORI, BENS. KOHLER CV20S
2 64773 1 SÄÄTÖTILAV.PUMPPU NT12PV14-14 HI2
3 64837 1 HYDR. PUMPPU PLP20.8D0-03S1-LBE
4 64772 1 HAMMASHIHNA GT2 960-8MGT-20
5 A45660 1 PERUSLEVY
6 A45009 1 PUMPUNLAIPPA
7 A34896 1 PAKOSARJA KOHLER
8 A45562 1 HAMMASHIHNAPYÖRÄ Z=44
9 A45561 1 HAMMASHIHNAPYÖRÄ Z=44
10 A46467 1 HIHNASUOJA KP
11 A46148 2 KIRISTYSKELKKA KP
12 A46587 1 VÄLIHOLKKI
13 A46406 1 IMULETKO L=340
14 A46405 1 IMULETKO L=225
15 A46004 1 PAKOPUTKEN ULKO-OSA
16 A46003 1 PAKOPUTKEN SIS�OSA
17 A46002 2 RENGAS
18 A46005 1 JOUSI 3*41*140 nt 8,5
19 A46402 1 HYDR.LETKU L=215
20 73762 1 SÄÄTÖLAITE F7110 (KAASUVIPU)
21 A46408 1 KAASUVAIJERI AVANT 200



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 13

22 64782 1 RIKASTIMEN VAIJERI 17950-HN5671
23 64767 1 PAINELAIPPA 2GB12 (R1/2"-F40 AL)
24 73747 1 PAINELAIPPA 1GQ38 (R3/8"-F30 AL)
25 64193 1 PAINELAIPPA 1GB38 (R3/8"-F35 AL)
26 A46403 2 IMUNIPPA
27 64045 1 KULMALIITIN 90 AST C40XS12-1/2
28 64041 2 PERUSLIITIN F40XS10-3/8
29 64768 1 PUTKITULPPA PNTXS12
30 64058 2 PERUSLIITIN F40XS12-1/2
31 A46455 1 ÖLJYNLASKUNIPPA
32 A46404 2 KURISTINNIPPA R1/8"-UNF 7/16"
33 73530 4 LETKUNKIRISTIN ABA 22-32 MM ZN
34 72184 2 KUUSIORUUVI ZN M14* 40 DIN 933
35 73042 2 KUUSIORUUVI ZN M12* 35 DIN 933
36 72137 4 KUUSIORUUVI ZN M 8* 50 DIN 931
37 73039 2 KUUSIORUUVI ZN M 8* 16 DIN 933
38 74706 1 KUUSIORUUVI ZN UNF 7/16” – ¾”
39 74582 3 UPPOK.RISTIURARUUVI M4*25 DIN 965
40 72327 2 KUUSIOMUTTERI M14 DIN 985 ZNNYLOC
41 72324 2 KUUSIOMUTTERI M12 DIN 985 ZNNYLOC
42 72323 8 KUUSIOMUTTERI M12 DIN 934 ZN
43 72320 8 KUUSIOMUTTERI ZN M8 DIN 985 NYLOC
44 72313 3 KUUSIOMUTTERI M4 DIN 985 ZNNYLOC
45 73018 1 ALUSLEVY M10 R11 DIN 440 ZN KORI
46 73612 8 ALUSLEVY M10 A10 DIN 127 ZN JOUSI
47 73384 2 ALUSLEVY M14 A15 DIN 125 ZN
48 71691 2 ALUSLEVY M12 A13 DIN 125 ZN
49 73122 4 ALUSLEVY M 8 A8,4 DIN 125 ZN
50 64068 1 KULMALIITIN 90 AST. C40XS12-3/8
51 64774 4 TÄRINÄNERISTIN, LIERIÖ, 1021 550
52 64678 1 PERUSLIITIN F40XS6-1/4"
53 A46518 1 KIILA 6.3*6.3*20
54 A46662 1 HYDR.LETKU L=450
55 A46663 1 HYDR.LETKU L=480
56 64043 1 KULMALIITIN 90 AST C6XS10
57
58 73531 1 LETKUNKIRISTIN 11-17MM ABA

64825 1 ILMANSUODATINPANOS
64826 1 ILMANSUODATIN,ESI
74093 1 HYDR.SUODATIN PALUU
64807 1 HYDR.PAINESUODATIN
64827 1 POLTTOAINESUODATIN
64824 1 MOOTTORIÖLJYNSUODATIN
A3958 1 HUOHOTINSUODATIN,ÖLJYNMITTATIKKU
64828 2 SYTYTYSTULPPA



             AVANT 200-SARJA VARAOSALUETTELO 15.09.201014

MOOTTORIKOKOONPANO AVANT 218

1 65107 1 POLTTOMOOTTORI, BENS. KOHLER CV18S
2 64773 1 SÄÄTÖTILAV.PUMPPU NT12PV14-14 HI2
3 64779 1 HYDR. PUMPPU PLP20.6,3D0-03S1-LBE
4 64772 1 HAMMASHIHNA GT2 960-8MGT-20
5 A45660 1 PERUSLEVY
6 A45009 1 PUMPUNLAIPPA
7 A34896 1 PAKOSARJA KOHLER
8 A45562 1 HAMMASHIHNAPYÖRÄ Z=44
9 A45561 1 HAMMASHIHNAPYÖRÄ Z=44
10 A46467 1 HIHNASUOJA KP
11 A46148 2 KIRISTYSKELKKA KP
12 A46587 1 VÄLIHOLKKI
13 A46406 1 IMULETKO L=340
14 A46405 1 IMULETKO L=225
15 A46004 1 PAKOPUTKEN ULKO-OSA
16 A46003 1 PAKOPUTKEN SIS�OSA
17 A46002 2 RENGAS
18 A46005 1 JOUSI 3*41*140 nt 8,5
19 A46402 1 HYDR.LETKU L=215
20 73762 1 SÄÄTÖLAITE F7110 (KAASUVIPU)
21 A46408 1 KAASUVAIJERI AVANT 200



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 15

22 64782 1 RIKASTIMEN VAIJERI 17950-HN5671
23 64767 1 PAINELAIPPA 2GB12 (R1/2"-F40 AL)
24 73747 1 PAINELAIPPA 1GQ38 (R3/8"-F30 AL)
25 64193 1 PAINELAIPPA 1GB38 (R3/8"-F35 AL)
26 A46403 2 IMUNIPPA
27 64045 1 KULMALIITIN 90 AST C40XS12-1/2
28 64041 2 PERUSLIITIN F40XS10-3/8
29 64768 1 PUTKITULPPA PNTXS12
30 64058 2 PERUSLIITIN F40XS12-1/2
31 A46455 1 ÖLJYNLASKUNIPPA
32 A46404 2 KURISTINNIPPA R1/8"-UNF 7/16"
33 73530 4 LETKUNKIRISTIN ABA 22-32 MM ZN
34 72184 2 KUUSIORUUVI ZN M14* 40 DIN 933
35 73042 2 KUUSIORUUVI ZN M12* 35 DIN 933
36 72137 4 KUUSIORUUVI ZN M 8* 50 DIN 931
37 73039 2 KUUSIORUUVI ZN M 8* 16 DIN 933
38 74706 1 KUUSIORUUVI ZN UNF 7/16” – ¾”
39 74582 3 UPPOK.RISTIURARUUVI M4*25 DIN 965
40 72327 2 KUUSIOMUTTERI M14 DIN 985 ZNNYLOC
41 72324 2 KUUSIOMUTTERI M12 DIN 985 ZNNYLOC
42 72323 8 KUUSIOMUTTERI M12 DIN 934 ZN
43 72320 8 KUUSIOMUTTERI ZN M8 DIN 985 NYLOC
44 72313 3 KUUSIOMUTTERI M4 DIN 985 ZNNYLOC
45 73018 1 ALUSLEVY M10 R11 DIN 440 ZN KORI
46 73612 8 ALUSLEVY M10 A10 DIN 127 ZN JOUSI
47 73384 2 ALUSLEVY M14 A15 DIN 125 ZN
48 71691 2 ALUSLEVY M12 A13 DIN 125 ZN
49 73122 4 ALUSLEVY M 8 A8,4 DIN 125 ZN
50 64068 1 KULMALIITIN 90 AST. C40XS12-3/8
51 64774 4 TÄRINÄNERISTIN, LIERIÖ, 1021 550
52 64678 1 PERUSLIITIN F40XS6-1/4"
53 A46518 1 KIILA 6.3*6.3*20
54 A46662 1 HYDR.LETKU L=450
55 A46663 1 HYDR.LETKU L=480
56 64043 1 KULMALIITIN 90 AST C6XS10
57
58 73531 1 LETKUNKIRISTIN 11-17MM ABA

64825 1 ILMANSUODATINPANOS
64826 1 ILMANSUODATIN,ESI
74093 1 HYDR.SUODATIN PALUU
64807 1 HYDR.PAINESUODATIN
64827 1 POLTTOAINESUODATIN
64824 1 MOOTTORIÖLJYNSUODATIN
A3958 1 HUOHOTINSUODATIN,ÖLJYNMITTATIKKU
64828 2 SYTYTYSTULPPA



             AVANT 200-SARJA VARAOSALUETTELO 15.09.201016

PUOMI A21133

1 A32878 1 PUOMI HITS. KP
2 A32879 1 PIKAKIINNITYSLEVY
3 A45767 1 VAKAAJAKAPPALE
4 A45990 1 VAKAAJATANKO
5 A46450 1 LETKUKELKKA KP
6 A45768 1 LETKUSUOJA
7 A45937 2 LETKUPIDIKE
8 A46400 4 VAKAINTANKO KP



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 17

9 A45991 1 LUKITUSTAPPI KP
10 A45808 1 LETKUNPIDIKE
11 A44996 1 NOSTOSYLINTERI F50/25*200
12 A44997 1 KAUHASYLINTERI F50/F25*75
13 A46397 1 PUOMINTAPPI
14 A46396 1 VAKAAJANTAPPI
15 A46394 1 TILT-TAPPI
16 A46399 2 KAUHASYLINTERINTAPPI
17 A46398 1 NOSTOSYLINTERINTAPPI
18 A46253 1 HYDR.LETKU L=1320 TYPE 087-3/16"
19 A46254 1 HYDR.LETKU L=1110 TYPE 087-3/16"
20 A46256 1 HYDR.LETKU L=2730 TYPE 087-3/16"
21 A46255 1 HYDR.LETKU L=2580 TYPE 087-3/16"
22 64138 1 PURISTUSJOUSI,DIN2098 2*25*135
23 64769 2 NIVELLAAKERI GE25ES F42/25-20(16)
24 74705 2 SEEGERRENGAS J 42*1,75 DIN 472
25 64586 4 LIUKULAAKERI BRM-80 TFP-3040
26 72147 6 KUUSIORUUVI ZN M10* 16 DIN 933
27 72130 2 KUUSIORUUVI ZN M 8* 20 DIN 933
28 72118 2 KUUSIORUUVI ZN M 6* 20 DIN 933
29 72119 4 KUUSIORUUVI ZN M 6* 25 DIN 933
30 72330 2 KUUSIOMUTTERI M16 DIN 985 ZNNYLOC
31 72320 11 KUUSIOMUTTERI ZN M8 DIN 985 NYLOC
32 72318 4 KUUSIOMUTTERI M6 DIN 985 ZNNYLOC
33 73123 2 ALUSLEVY M20 A21 DIN 125 ZN
34 73461 2 ALUSLEVY M16 18 DIN 126 ZN
35 74531 6 ALUSLEVYPARI M10 NL10 NORDLOCK
36 73122 8 ALUSLEVY M 8 A8,4 DIN 125 ZN
37 71793 1 JOUSISOKKA 6* 40 DIN 1481
38 72798 5 RASVANIPPA DIN 71412 R1/8" SUORA
39 64678 3 PERUSLIITIN F40XS6-1/4"
40 64687 1 KULMALIITIN 90 AST. C40XS6-1/4"
41 A46417 1 PUOMIN HUOLTOTUKI
42 A46472 1 VÄLIHOLKKI
43 64788 2 LIUKULAAKERI BRM-80 TFP-5540
44 A46537 2 TUKIHOLKKI



             AVANT 200-SARJA VARAOSALUETTELO 15.09.201018

KÄSIJARRU A33076

1 A45670 1 VÄÄNTÖVARSI KP
2 A45667 2 LUKINTATAPPI
3 A45666 2 TYÖNTÖHOLKKI
4 A45669 1 PIDÄTIN
5 A45668 1 POHJALEVY
6
7 71792 4 JOUSISOKKA 5* 32 DIN 1481KELTA
8 73123 4 ALUSLEVY M20 A21 DIN 125 ZN
9 64786 1 LÄPIVIENTIKUMI F32/25/19,S=4H=11
10 72130 3 KUUSIORUUVI ZN M 8* 20 DIN 933
11 72320 3 KUUSIOMUTTERI ZN M8 DIN 985 NYLOC



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 19

SÄHKÖKOKOONPANO AVANT 200 / KOHLER A46659

1 A21141 1 JOHTOSARJA AVANT 200 / KOHLER
2 A46412 1 KAAPELI PÄÄKYTKIN/MAA
3 A46413 1 KAAPELI PÄÄKYTKIN/AKKU
4 A46414 1 KAAPELI AKKU/STARTTI
5 64152 1 TUNTIMITTARI, COBO D.52 10-80V
6 64141 1 PÄÄVIRTAKYTKIN MBERS-98700
7 64785 2 TYÖVALAISIN COBO 05-0697-0000
8 64157 1 ÄÄNIMERKKI 12 V DC
9 64292 1 SULAKEPESÄ, 2 SULAK MERIT
10 64784 1 VIRTALUKKO COBO 14.111.000
11 64213 1 PISTORASIA MERIT 114320
12 64103 1 MERKKIVALO 12V C057900 VIHREÄ
13 64602 1 VIPUKYTKIN B067AP 250VAC/10A 1-N
14 64074 1 PAINOKYTKIN, F22,5 MERIT 201700
15 64603 1 KUMISUOJUS V-22 VIPUKYTKIMEEN
16 64113 1 SUOJAINPIIPPU 2013 473



             AVANT 200-SARJA VARAOSALUETTELO 15.09.201020

ETU-NAPAMOOTTORI KP A46243

1 64540 1 HYDR.MOOTTORI OMSW 250 151F0233
2 A46242 1 ETUNAPA AVANT 200
3 74691 4 PYÖRÄNPULTTI 10.9 M12*1,5-60
4 72171 4 KUUSIORUUVI ZN M12* 45 DIN 931
5 73743 4 PYÖRÄNMUTTERI M12*1,5 DIN74361
6 72324 4 KUUSIOMUTTERI M12 DIN 985 ZNNYLOC
7 73613 8 ALUSLEVY M12 A12 DIN 127 ZN JOUSI

TAKA-NAPAMOOTTORI KP A46244

1 64540 1 HYDR.MOOTTORI OMSW 250 151F0233
2 A43973 1 NAPA KP OMS
3 74691 4 PYÖRÄNPULTTI 10.9 M12*1,5-60
4 72171 4 KUUSIORUUVI ZN M12* 45 DIN 931
5 73743 4 PYÖRÄNMUTTERI M12*1,5DIN74361
6 72324 4 KUUSIOMUTTERI M12 DIN 985 ZNNYLOC
7 73613 8 ALUSLEVY M12 A12 DIN 127 ZN JOUSI



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 21

POLTTOAINETANKKI A46411

1 A33081 1 POLTTOAINETANKKI 9L
2 A46284 1 AKUN ALAKINNIKE
3 A46285 1 AKUN YLÄKINNIKE
4 A43133 1 KORKINKAULUS
5 A46288 1 KORKINTIIVISTE
6 A43531 1 POLTTO-AINEKARA F7MM
7 72139 1 KUUSIORUUVI ZN M 8* 60 DIN 931
8 72130 1 KUUSIORUUVI ZN M 8* 20 DIN 933
10 72320 2 KUUSIOMUTTERI ZN M8 DIN 985 NYLOC
11 72322 1 KUUSIOMUTTERI M10 DIN 985 ZN
12 73121 1 ALUSLEVY M10 A10,5 DIN 125 ZN
14 64855 1 TANKINKORKKI



             AVANT 200-SARJA VARAOSALUETTELO 15.09.201022

ISTUIN

1 65077 1 ISTUIN VIHREÄ/MUSTA AVANT
2 A46421 1 ISTUIMEN KIINNITYSTASO
3 64792 1 SÄÄTÖKISKOSARJA COBO G5043.001
4 72128 12 KUUSIORUUVI ZN M 8* 12 DIN 933
5 72319 8 KUUSIOMUTTERI ZN M 8 DIN 934 ZN



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 23

AJOPOLJIN KP A33078

1 A45783 1 AJOPOLJIN , OIKEA
2 A45785 1 AJOPOLJIN , VASEN
3 A45662 1 AJOPOLKIMENKANNAKE
4 A46259 1 HYDR.LETKU L=320 TY PE 087-3/16"
5 A46257 1 HYDR.LETKU L=810 TY PE 087-3/16"
6 A46258 1 HYDR.LETKU L=900 TYPE087-3/16"
7 A46260 1 HYDR.LETKU L=900 TY PE 087-3/16"
8 64678 4 PERUSLIITIN F40XS6-1/4"
9 64687 5 KULMALIITIN 90 AST. C40XS6-1/4"
10 64783 1 HYDR.POLJIN BONDIOLI HT2B001 S
11 72130 2 KUUSIORUUVI ZN M 8* 20 DIN 933
12 72117 2 KUUSIORUUVI ZN M 6* 16 DIN 933
13 72320 2 KUUSIOMUTTERI ZN M8 DIN 985 NYLOC
14 72318 2 KUUSIOMUTTERI M6 DIN 985 ZNNYLOC



             AVANT 200-SARJA VARAOSALUETTELO 15.09.201024

LETKUTUS A21132

1 64795 1 SUUNTAV.BLB
2 64770 1 SUUNTAV. SD5/1-P
3 64178 1 OHJAUSYKSIKKÖ
4 64780 1 OHJAUSVARSI
5 65076 1 OHJAUSPYÖRÄ
6 A46150 1 RAJOITIN
7 A46276 1 JALKAVIPU
8 A46277 1 VÄLIHOLKKI
10 A44435 1 KAHVA
11 A46432 1 VIPU KP
12 A46427 1 PERUSLEVY
13 A46428 1 AISA
14 A45116 1 ORBITROLIN KANNAKE
15 A46261 1 HYDR.LETKU L=1130 1LW-04 JIC10
16 A46262 1 HYDR.LETKU L=510 1L W-04 JIC10
17 A46263 1 HYDR.LETKU L=780 1LW-04 JIC10
18 A46264 1 HYDR.LETKU L=1160 1LW-04 JIC10
19 A46265 1 HYDR.LETKU L=1260 1LW-04 JIC10
20 A46266 1 HYDR.LETKU L=1170 1LW-06 JIC12
21 A46268 1 HYDR.LETKU L=1250 2LW-06 JIC12



             AVANT 200-SARJA VARAOSALUETTELO 15.09.2010 25

22 A46269 1 HYDR.LETKU L=275 1LW-08 JIC12
23 64050 1 L-LIITINRUNKO R6XS12
24 A46271 2 HYDR.LETKU L=1450 2 LW-06 JIC12
25 A46272 1 HYDR.LETKU L=1450 1LW-06 JIC12
26 A46273 1 HYDR.LETKU L=325 1LW-04 JIC10
27 A46267 1 HYDR.LETKU L=350 1LW-08 JIC12
28 A46274 1 HYDR.LETKU L=1220 1LW-08 JIC12
29 64566 2 PIKALIITINRUNKO FLAT 1/2" FA9 1/2
30 64565 1 PIKALIITINNIPPA FLAT 1/2" MA9 1/2
31 64771 1 T-LIITINRUNKO S40XS12-1/2
32 64200 1 T-LIITIN JTXS12
33 64070 2 T-KIERRELIITINRUNKO S6XS10
34 64166 2 KULMALIITIN 90 AST. C40XS10-1/2"
35 64044 3 KULMALIITIN 90 AST C40XS10-3/8
36 64068 1 KULMALIITIN 90 AST. C40XS12-3/8
37 64087 3 KULMALIITIN 90 AST. C40XS10-1/4"
38 64051 1 SUPISTIN TRTXS12-10
39 64058 1 PERUSLIITIN F40XS12-1/2
40 64791 2 KULMALIITIN 45 AST. V40XS12-3/8
41 64041 2 PERUSLIITIN F40XS10-3/8
42 64059 1 PERUSLIITIN F40XS10-1/4
43 64678 2 PERUSLIITIN F40XS6-1/4"
44 73750 1 HYDR. PALUUSUODATIN TÄYDELLINEN
45 74093 1 SUODATINPANOS
46 64308 2 KULMALIITIN 90 AST C6XS6
47 64687 2 KULMALIITIN 90 AST. C40XS6-1/4"
48 63690 3 NIVELVARSI
49 A41822 1 VIVUSTON MUTTERI M 6
50 64042 1 PERUSLIITIN F40XS12-3/8
51 64546 1 ÖLJYNJÄÄHDYTINKENNO
52 74587 4 VAARNARUUVI M10* 35 DIN 939-5.8
53 74503 3 KUUSIORUUVI ZN M 8* 65 DIN 931
54 72130 3 KUUSIORUUVI ZN M 8* 20 DIN 933
55 74516 3 KUUSIORUUVI ZN M 6* 50 DIN 933
56 72117 1 KUUSIORUUVI ZN M 6* 16 DIN 933
57 72110 4 KUUSIORUUVI ZN M 5* 16 DIN 933
58 72321 8 KUUSIOMUTTERI ZN M 10 DIN 934
59 72320 7 KUUSIOMUTTERI ZN M8 DIN 985 NYLOC
60 72319 1 KUUSIOMUTTERI ZN M8 DIN 934 ZN
61 72318 3 KUUSIOMUTTERI M6 DIN 985 ZNNYLOC
62 72317 4 KUUSIOMUTTERI M6 DIN 934 ZN
63 72322 1 KUUSIOMUTTERI M10 DIN 985 ZN
64 73018 1 ALUSLEVY M10 R11 DIN 440 ZN KORI
65 74452 1 ALUSLEVY M 6 A6 DIN 127 ZN JOUSI
66 73962 1 ALUSLEVY M 8 A8 DIN 127 ZN JOUSI
67 64195 1 MITTAUSLIITIN TT4XS10-1/4"
68 64196 1 MITTAUSPIKALIITIN M16*2 <=>

R1/4"ULKOK



             AVANT 200-SARJA VARAOSALUETTELO 15.09.201026

AJON LETKUTUS A33077

1 A46245 1 HYDR.LETKU L=700 2LW-08 JIC12
2 A46246 1 HYDR.LETKU L=1200 2LW-08 JIC12
3 A46247 1 HYDR.LETKU L=570 2L W-06 JIC12
4 A46248 1 HYDR.LETKU L=385 2L W-06 JIC12
5 A46249 1 HYDR.LETKU L=2580 2LW-06 JIC12
6 A46250 1 HYDR.LETKU L=2120 2LW-06 JIC12
7 A46251 1 HYDR.LETKU L=900 TYPE 087-3/16"
8 A46252 1 HYDR.LETKU L=1300 TYPE 087-3/16"
9 64058 9 PERUSLIITIN F40XS12-1/2
10 64050 4 L-LIITINRUNKO R6XS12
11 64134 1 KULMALIITIN 90 AST C6XS12
12 64045 1 KULMALIITIN 90 AST C40XS12-1/2
13 64798 2 KULMALIITIN 90 AST. C40XS6-1/8"
14 64711 2 SUPISTIN TRTXS12-6
15 64797 1 VASTUSVENTTIILI 9N200S R1/8"


